
SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 23 aug 2022

Rebounder covered by one or more of the following U.S. patents: 5,640,915; 5,918,557; 6,082,275; 6,283,050; 6,453,832, 6,763,773 and 7,121,216.
71495 rd. 397 - indianola, ne 69034 - phone: 800-382-2607 - fax: 308-364-2410 - info@schaffert.com - www.schaffert.com - Sept 18, 2009

SCHAFFERT MFG. CO. INC. - phone: 800-382-2607 - fax: 308-364-2410

REBOUNDERTM MOUNTING INSTRUCTIONS

Crustbuster Double Disc Drills
(Read Instructions Completely before Beginning Installation)

Before working on your planter or drill
DANGER: when storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or
damage to the Rebounder. WARNING: do not roll back or back up the planter in or on the ground as this can result in damage to the
Rebounder.

Mounting Instructions
Before you begin, verify all items listed in the “package contents” table.
NOTE: See HELPFUL HINTS FOR MOUNTING REBOUNDERS TO DRILLS.

Step #1: remove one disc from each unit. Install the Rebounder bracket by sliding
tube up from the bottom of the drill unit in front of the scraper assembly.

Step #2: put nut and washer on bolt in bracket and tighten until bracket is tight in
drill housing. You are now ready to mount the Rebounder to the bracket.

Step #3: set planter on a flat surface, the Rebounder should be about 3/8” off the
floor or flat surface. Tighten the nut on the Rebounder.

NOTE: be sure the discs have 1/8” gap between them at the bottom. See drill own-
ers manual for this setting. The hollow tube welded into the Rebounder
bracket accommodates 1/4” fertilizer hose.

Optional fittings are available for fertilizer/chemical applications. Options
include, Y-Not Split-It, Hose Holder, or the Straight Shot, each available for an
additional charge.

Rebounder Package Contents
(per single row)

Item Quantity
Rebounder. . . . . . . . . . . . . . . . . . 1
1/4 x 1” bolts . . . . . . . . . . . . . . . 2
L-Bracket . . . . . . . . . . . . . . . . . . . 1
1/4” whiz nut . . . . . . . . . . . . . . . 1
1/4” nut . . . . . . . . . . . . . . . . . . . 1
Instruction Sheet. . . . . . . . . . . . . 1

Bracket Package Contents
(per single row)

Item Quantity
Bracket . . . . . . . . . . . . . . . . . . . . 1
flat washer . . . . . . . . . . . . . . . . . 1
5/16” lock nut . . . . . . . . . . . . . . 1

Rebounder, bracket
and components

Rebounder mounted
on bracket

bracket

L-bracket

Rebounder

Final Assembly

Rebounder covered by one or more of the following U.S. patents: 5,640,915; 5,918,557; 6,082,275; 6,283,050; 6,453,832, 6,763,773 and 7,121,216.
71495 rd. 397 - indianola, ne 69034 - phone: 800-382-2607 - fax: 308-364-2410 - info@schaffert.com - www.schaffert.com - Sept 18, 2009

SCHAFFERT MFG. CO. INC. - phone: 800-382-2607 - fax: 308-364-2410

REBOUNDERTM MOUNTING INSTRUCTIONS

Crustbuster Double Disc Drills
(Read Instructions Completely before Beginning Installation)

Before working on your planter or drill
DANGER: when storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or
damage to the Rebounder. WARNING: do not roll back or back up the planter in or on the ground as this can result in damage to the
Rebounder.

Mounting Instructions
Before you begin, verify all items listed in the “package contents” table.
NOTE: See HELPFUL HINTS FOR MOUNTING REBOUNDERS TO DRILLS.

Step #1: remove one disc from each unit. Install the Rebounder bracket by sliding
tube up from the bottom of the drill unit in front of the scraper assembly.

Step #2: put nut and washer on bolt in bracket and tighten until bracket is tight in
drill housing. You are now ready to mount the Rebounder to the bracket.

Step #3: set planter on a flat surface, the Rebounder should be about 3/8” off the
floor or flat surface. Tighten the nut on the Rebounder.

NOTE: be sure the discs have 1/8” gap between them at the bottom. See drill own-
ers manual for this setting. The hollow tube welded into the Rebounder
bracket accommodates 1/4” fertilizer hose.

Optional fittings are available for fertilizer/chemical applications. Options
include, Y-Not Split-It, Hose Holder, or the Straight Shot, each available for an
additional charge.

Rebounder Package Contents
(per single row)

Item Quantity
Rebounder. . . . . . . . . . . . . . . . . . 1
1/4 x 1” bolts . . . . . . . . . . . . . . . 2
L-Bracket . . . . . . . . . . . . . . . . . . . 1
1/4” whiz nut . . . . . . . . . . . . . . . 1
1/4” nut . . . . . . . . . . . . . . . . . . . 1
Instruction Sheet. . . . . . . . . . . . . 1

Bracket Package Contents
(per single row)

Item Quantity
Bracket . . . . . . . . . . . . . . . . . . . . 1
flat washer . . . . . . . . . . . . . . . . . 1
5/16” lock nut . . . . . . . . . . . . . . 1

Rebounder, bracket
and components

Rebounder mounted
on bracket

bracket

L-bracket

Rebounder

Final Assembly

Rebounder Packagge Contents
(per singgle row)

Item	 QuantityItem	 Quantity
Rebounder .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1
1/4" x 1" Bolts  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2
1/4" Whiz Nut .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  2
Instruction Sheet .  .  .  .  .  .  .  .  .  .  .  .  .  .  1

Bracket Packagge Contents
(per singgle row)

Item	 QuantityItem	 Quantity
Bracket  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1
Flat Washer  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1
5/16" Nut  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  1
5/16" Lock Washer .  .  .  .  .  .  .  .  .  .  .  .  .  1

Crustbuster Double Disc Drills (3400/3700/4000 Series)

Utilize the 4th and 7th hole in the bracket (top down) and the 2nd and 4th 
hole in the Rebounder (looking at the top of the bracket and Rebounder, 
count from that hole down). If running fertilizer hose, the L-bracket goes on 
the 4th Rebounder hole.

DANGER: When storing or working on the drill always install cylinder stops or place the drill on stands to prevent personal injury or damage to the Rebounder. 
WARNING: Do not roll back or back up the drill in or on the ground as this can result in damage to the Rebounder.



SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 23 aug 2022


